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Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 3 mm, Beam size = ¢1mm, Charge = 1nC/bunch
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1.2 Longitudinal 0000

Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 3 mm, Beam size = ¢ Imm, Charge = 1nC/bunch
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Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 3 mm, Beam size = ¢1mm, Charge = InC/bunch
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Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 200 mm, Beam size = ¢ 1 mm, Charge = 1nC/bunch
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Initial Conditions
Pulse width = 200 mm, Beam size = ¢ 1mm, Charge = InC/bunch
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2.2 Longitudinal OO 0O 0O

Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 200 mm, Beam size = ¢1mm, Charge = 1nC/bunch
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Free Space Beam Envelop Equation
Initial Conditions
Pulse width = 200 mm, Beam size = ¢ 1mm, Charge = 1nC/bunch
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